Narrogin Senior High School



ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "7FMH" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your home delivery order will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the cut-off date of Friday, 15th December 2023.

All orders returned on or before the 15th December 2023 will receive FREE Home Delivery. Orders can still be placed after the cutoff date, but there will be a late fee of up to \$12.00.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR TEN					
	COMPULSORY STATIONERY					
P54026	2024 Study Quest Student Diary Yrs 7-12	1		1	7.50	7.50
P50729	Display Book A4 40 Pocket Insert Cover Blue Non-Refillable	2	$\overline{\Box}$	1	5.45	5.45
	New students only. This file will be used for Extended Advocacy and will be	e retained f	or all years a	t NSHS.		
P58510	Eraser Plastic Pencil Large With Sleeve	3	Ó	1	0.40	0.40
P51685	Glue Stick 40gm Artline Clear	4	<u> </u>	2	2.75	5.50
P56211	Handy Pouch Pencil Case 345mm x 140mm	5	$\overline{\Box}$	1	3.50	3.50
	or a pencil case of student's choice		_			
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	6		1	11.05	11.05
	Students are encouraged to supply their own personal headphones.		_			
P50135	Highlighters Pkt 6 Micador	7		1	5.45	5.45
P56095	Pen Ballpoint Cap Type Blue Medium	8	<u> </u>	4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	9	_	2	0.35	0.70
P50006	Pencil (HB) Micador Essential	10		1	0.35	0.35
P50090	Ruler 300mm Wooden	11	<u> </u>	1	1.10	1.10
P50161	Scissors 170mm Maped Plastic Handle	12		1	2.30	2.30
P51356	Sharpener Pencil Wave Double Hole	13		1	2.05	2.05
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	14	\exists	1	14.05	14.05
	USB is required for most Subjects, but only one is required. You do not ne		ase multiple			
	ENGLISH					
P50018	Botany Book 225x175mm 96 Page 8mm	15		1	1.70	1.70
P50183	Display Book A4 40 Pockets Black Refillable	16	$\overline{\Box}$	1	6.15	6.15
	Retain from previous year. Only new students to purchase.			·		
P51506	Document Wallet A4 Polypick Heavy Duty Blue	17		1	8.05	8.05
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	18		2	1.65	3.30
P56328	Pocket Plastic A4 11 Hole Pkt 10	19	5	1	1.30	1.30
	ENGINEERING DESIGN					
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	20		1	1.30	1.30
P56141	Pen Felt Tip Triplus Fineliner Black	21		5	2.30	11.50
P50006	Pencil (HB) Micador Essential	22		10	0.35	3.50
P60040	Safety Glasses Spectacle Unisafe/Honeywell	23		1	7.55	7.55
	Safety glasses may be required for more than 1 subject, only 1 pair is requ	uired				
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	24		1	14.05	14.05
	See Compulsory Stationery					
	FINANCIAL LITERACY					
P55442	Display Book A4 20 Pocket Black Refillable	25		1	2.15	2.15
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	26		1	1.30	1.30
	HEALTH & PHYSICAL EDUCATION					
	These items should be purchased privately - General Phys Ed Uniform is required to be purchased from Sportspower a 1 x Mouthguard (Hockey) 1 x Pair of Shin Pads (Hockey)	and Academ	y Uniform fro	om Steelo's.		
P55442	Display Book A4 20 Pocket Black Refillable	27		1	2.15	2.15
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	28	5	1	1.30	1.30

Please tick the items required in the box provided \downarrow

HOSPITALITY	Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
PSI 102 Dividers Index A4 1-12 Tab Board Bright 29		HOSPITALITY					
P86328 Pocket Plastic A4 11 Hole Pkt 10 30 3 1.30 3.90 P52986 USB Pocket Flash Drive 32CB - NO RETURNS 31 1 14.05 14.05 P52986 USB Pocket Flash Drive 32CB - NO RETURNS 31 1 14.05 14.05 P50510 Display Book A4 20 Pocket Mild Blue Refiliable 32 1 1 1.30 1.30 P50590 Exercise Book A4 64 Page 8mm with Margin Spirax #106 33 1 1.30 1.30 P50391 Notebook A4 250 Page 5 Subject 5 Colour 34 1 9.95 9.95 To be retained all year HASS only WATHEMATICS See Compulsory Stationery See Compulsory Stationery 35 1 41.95 41.95 P82000 Calculator Casio Scientific FX-82AU Plus II 2E 35 1 41.95 41.95 P62011 Exercise Book A4 98 Page 8mm with Margin Spirax #108 37 2 1.65 3.30 METAL DESIGN Nendit (HB) Micador Essential 38 1 0 0.35 3.50 P80010 Safety	P51902		20		1	5 75	5 75
P82086 USB Pocket Flash Drive 32CB - NO RETURNS 31		_		_			
HUMANITIES & SOCIAL SCIENCES				_			
P50510 Display Book A4 20 Pocket Mid Blue Refillable 32	1 02000		31	ч		14.03	14.03
Exercise Book A4 64 Page 8mm with Margin Spirax #106 33		HUMANITIES & SOCIAL SCIENCES					
Notebook A4 250 Page 5 Subject 5 Colour	P50510	Display Book A4 20 Pocket Mid Blue Refillable	32		1	2.15	2.15
MATHEMATICS See Compulsory Stationery See Compass Micador Self-Centering 140mm Safety #325 36	P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	33	$\overline{\Box}$	1	1.30	1.30
MATHEMATICS See Compulsory Stationery Calculator Casio Scientific FX-82AU Plus II 2E 35	P50389	Notebook A4 250 Page 5 Subject 5 Colour	34		1	9.95	9.95
P52000 Calculator Casio Scientific FX-82AU Plus II 2E 35		To be retained all year HASS only					
P62000 Calculator Casio Scientific FX-82AU Plus II 2E 35		MATHEMATICS					
Retain from previous years.							
P55343 Compass Micador Self-Centering 140mm Safety #325 36	P52000		35		1	41.95	41.95
P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 37		·					
METAL DESIGN P50006 Pencil (HB) Micador Essential 38 10 0.35 3.50 P60040 Safety Glasses Spectacle Unisafe/Honeywell 39 1 7.55 7.55 MUSIC Eraser Plastic Pencil Large With Sleeve 40 1 0.40 0.40 P50451 Exaercise Book A4 96 Page 8mm with Margin Spirax #108 41 1 1.65 1.65 P50444 Music Book A4 96 Page Ruled & Staved Spirax 244 42 1 2.55 2.55 P50006 Pencil (HB) Micador Essential 43 1 0.35 0.35 PHOTOGRAPHY Note: A separate USB is required for Photography. USB Pocket Flash Drive 32GB - NO RETURNS 44 1 1.4.05 14.05 SCIENCE P50045 Exercise Book A4 96 Page 8mm with Margin Spirax #108 45 1 1.65 1.65 P60451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 45 1 1.7.55 7.55 TRADE WORKSHOP				_			
Pencil (HB) Micador Essential 38	P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	37		2	1.65	3.30
P60040 Safety Glasses Spectacle Unisafe/Honeywell Safety glasses may be required for more than 1 subject, only 1 pair is required 1 7.55 7.55		METAL DESIGN					
MUSIC Fraser Plastic Pencil Large With Sleeve 40	P50006	Pencil (HB) Micador Essential	38		10	0.35	3.50
MUSIC P58510 Eraser Plastic Pencil Large With Sleeve 40 1 0.40 0.40 P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 41 1 1.65 1.65 P50444 Music Book A4 96 Page Ruled & Staved Spirax 244 42 1 1.2.55 2.55 P50006 Pencil (HB) Micador Essential 43 1 0.35 0.35 PHOTOGRAPHY Note: A separate USB is required for Photography. P52086 USB Pocket Flash Drive 32GB - NO RETURNS 44 1 1.4.05 14.05 SCIENCE P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 45 1 1.65 1.65 P60040 Safety Glasses Spectacle Unisafe/Honeywell 46 1 7.55 7.55 TRADE WORKSHOP P50006 Pencil (HB) Micador Essential 47 4 0.35 1.40 P60040 Safety Glasses Spectacle Unisafe/Honeywell 48 1 7.55 7.55 Safety glasses may	P60040		39		1	7.55	7.55
P58510 Eraser Plastic Pencil Large With Sleeve							
P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 41 1 1.65 1.65 P50444 Music Book A4 96 Page Ruled & Staved Spirax 244 42 1 2.55 2.55 P50006 Pencil (HB) Micador Essential 43 1 0.35 0.35 PHOTOGRAPHY							
P50444 Music Book A4 96 Page Ruled & Staved Spirax 244 42 1 2.55 2.55 P50006 Pencil (HB) Micador Essential 43 1 0.35 0.35 PHOTOGRAPHY		_					
P50006 Pencil (HB) Micador Essential 43 1 0.35 0.35 PHOTOGRAPHY Note: A separate USB is required for Photography. USB Pocket Flash Drive 32GB - NO RETURNS 44 1 14.05 14.05 SCIENCE Exercise Book A4 96 Page 8mm with Margin Spirax #108 45 1 1 1.65 1.65 P60040 Safety Glasses Spectacle Unisafe/Honeywell 46 1 7.55 7.55 TRADE WORKSHOP P50006 Pencil (HB) Micador Essential 47 4 0.35 1.40 P60040 Safety Glasses Spectacle Unisafe/Honeywell 47 4 0.35 1.40 Safety glasses may be required for more than 1 subject, only 1 pair is required					· ·		
PHOTOGRAPHY Note: A separate USB is required for Photography. P52086 USB Pocket Flash Drive 32GB - NO RETURNS 44							
Note: A separate USB is required for Photography. P52086 USB Pocket Flash Drive 32GB - NO RETURNS 44	P50006	Pencil (HB) Micador Essential	43	Ц	1	0.35	0.35
P52086 USB Pocket Flash Drive 32GB - NO RETURNS 44 1 14.05 14.05 SCIENCE P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 45 1 1.65 1.65 P60040 Safety Glasses Spectacle Unisafe/Honeywell Safety glasses are required for more than 1 subject, only 1 pair is required 46 1 7.55 7.55 TRADE WORKSHOP Pencil (HB) Micador Essential 47 4 0.35 1.40 P60040 Safety Glasses Spectacle Unisafe/Honeywell 48 1 7.55 7.55 Safety glasses may be required for more than 1 subject, only 1 pair is required 48 1 7.55 7.55							
SCIENCE P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 45	P52086		11		1	14.05	14.05
P50451 Exercise Book A4 96 Page 8mm with Margin Spirax #108 45	F32000		44	ы	ı	14.05	14.05
P60040 Safety Glasses Spectacle Unisafe/Honeywell Safety glasses are required for more than 1 subject, only 1 pair is required TRADE WORKSHOP P50006 Pencil (HB) Micador Essential P60040 Safety Glasses Spectacle Unisafe/Honeywell Safety glasses may be required for more than 1 subject, only 1 pair is required	DEGATA			_			
TRADE WORKSHOP P50006 Pencil (HB) Micador Essential 47 4 0.35 1.40 P60040 Safety Glasses Spectacle Unisafe/Honeywell 48 1 7.55 7.55 Safety glasses may be required for more than 1 subject, only 1 pair is required							
TRADE WORKSHOP P50006 Pencil (HB) Micador Essential 47 4 0.35 1.40 P60040 Safety Glasses Spectacle Unisafe/Honeywell 48 1 7.55 7.55 Safety glasses may be required for more than 1 subject, only 1 pair is required	P60040		46		1	7.55	7.55
P50006 Pencil (HB) Micador Essential 47 4 0.35 1.40 P60040 Safety Glasses Spectacle Unisafe/Honeywell 48 1 7.55 7.55 Safety glasses may be required for more than 1 subject, only 1 pair is required		Safety glasses are required for more than 1 subject, only 1 pair is required					
P60040 Safety Glasses Spectacle Unisafe/Honeywell 48 1 7.55 7.55 Safety glasses may be required for more than 1 subject, only 1 pair is required		TRADE WORKSHOP					
Safety glasses may be required for more than 1 subject, only 1 pair is required	P50006	Pencil (HB) Micador Essential	47		4	0.35	1.40
	P60040	Safety Glasses Spectacle Unisafe/Honeywell	48		1	7.55	7.55
P56677 Visual Art Diary A3 60 Sheet 110gsm 49 1 9.95 9.95		Safety glasses may be required for more than 1 subject, only 1 pair is required					
	P56677	Visual Art Diary A3 60 Sheet 110gsm	49		1	9.95	9.95

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	VISUAL ARTS					
	All items are required.					
P50121	Brush Oil/Acrylics Flat Bristle #777/577 /6	50		1	1.10	1.10
P55223	Brush Roymac Achiever White Taklon Round 02	51		1	4.15	4.15
P55228	Brush Water Colours Sabeline #1550/ 6	52		1	5.20	5.20
P58510	Eraser Plastic Pencil Large With Sleeve	53		1	0.40	0.40
P51685	Glue Stick 40gm Artline Clear	54		2	2.75	5.50
P56141	Pen Felt Tip Triplus Fineliner Black	55		1	2.30	2.30
P50004	Pencil (2B) Economy	56		4	0.50	2.00
P50574	Pencils-Coloured 24's Water Soluble Micador	57		1	14.95	14.95
P56677	Visual Art Diary A3 60 Sheet 110gsm	58		1	9.95	9.95
	WOOD DESIGN					
P50006	Pencil (HB) Micador Essential	59		10	0.35	3.50
P60040	Safety Glasses Spectacle Unisafe/Honeywell	60		1	7.55	7.55
	Safety glasses may be required for more than 1 subject, only 1 pair is required					
	Number of Boxes ticked:					
	Postage (Home delivery only)		\$0.00			
	ESTIMATED AMOUNT DUE (PRICES CORRECT AT 21/11/23)		\$			